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QUESTION 1

Which of the following CREATE TABLE or associated CREATE INDEX options are valid when defining a table with the
PARTITION BY RANGE clause? (Choose two.)

A. MAXPARTITIONS

B. ENDING AT clause on a CREATE INDEX statement for the table
C. MEMBER CLUSTER

D. ENDING AT clause on the CREATE TABLE statement

E. A LOB column specified as a column of the partitioning key

Correct Answer: BE

QUESTION 2

Which of the following tables can be used to set the default of the special register CURRENT APPLICATION
COMPATIBILITY for remote users?

A. The resource limit facility table authid. DSNRLMTxx

B. The DB2 catalog table SYSIBM.SYSENVIRONMENT

C. The profile table SYSIBM.DSN_PROFILE_ATTRIBUTES

D. The communications database table SYSIBM.USERNAMES

Correct Answer: C

QUESTION 3

Which job generates the subsystem parameter module?
A. DSNTIJIN

B. DSNTIJID

C. DSNTIJUZ

D. DSNTIJEN

Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/intro/src/tpc/ db2z_zparm.html

QUESTION 4
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When you add an XML column to a table by using an ALTER TABLE statement, which of the following are TRUE?
(Choose two.)

A. DB2 implicitly creates an XML table space

B. DB2 implicitly creates an AUX table to store the XML data

C. If this is the first XML column you created for the table, DB2 implicitly creates a unique index on the XML column
D. If this is the first XML column you created for the table, DB2 implicitly creates a ROWID column on the base table

E. If this is the first XML column you created for the table, DB2 implicitly creates a BIGINT node ID column on the base
table

Correct Answer: AE

QUESTION 5

Which statement about an application-period temporal table is TRUE?

A. It has SYSTEM_TIME defined

B. It has an end column defined using WITH DEFAULT NULL

C. It must have the index clause BUSINESS_TIME WITHOUT OVERLAPS

D. It has a begin column defined as TIMESTAMP(6) NOT NULL or DATE NOT NULL
Correct Answer: D

Reference: https://www.ibm.com/developerworks/data/library/techarticle/dm-1410temporal-tables-db2zos/ index.html

QUESTION 6

Which SQL statement will retrieve the department number (WORKDEPT) and the highest salary (SALARY) for each
department in a table named EMPLOYEE and arrange the result set in ascending order by department?

A. SELECT workdept, salary FROM employee GROUP BY workdept ORDER BY workdept;
B. SELECT workdept, MAX(salary) FROM employee ORDER BY workdept GROUP BY 2;
C. SELECT workdept, MAX(salary) FROM employee ORDER BY workdept;

D. SELECT workdept, MAX(salary) FROM employee GROUP BY workdept ORDER BY 1;
Correct Answer: B

Reference: https://www.ibm.com/support/knowledgecenter/SSPT3X_4.2.0/
com.ibm.swg.im.infosphere.biginsights.commsgl.doc/doc/r0059224.html

QUESTION 7
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We want to increase the salary for each employee (EMP) in the department (WORKDEPT) D11 and we want to see the
new salaries(SALARY) for each of them.

Which single SQL statement will do this?
A UPDATE emp SET salary = salary * 1.1 WHERE workdept ="D117;
SELECT lastname, salary FROM emp;

SELECT lastname, salary FROM FINAL TAELE
(UPDATE emp SET salary = salary * 1.1 WHERE workdept ="D117);

C. SELECT lastname. salary FROM NEW TABLE
(UPDATE emp SET salary = salary * 1.1 WHERE workdept ="D117);

D. SELECT lastname. salary FROM emp
(UPDATE emp SET salarv = salary * 1.1 WHERE workdept = 'D117);

A.B.C.D.

Correct Answer: D

QUESTION 8

The metadata for which of the following objects is NOT stored in the DB2 catalog table SYSIBM.SYSTABLES?
A. A view

B. A temporal table

C. A created global temporary table

D. A declared global temporary table

Correct Answer: B

QUESTION 9

Which statement is TRUE regarding ROLLBACK processing?
A. It only reads active logs

B. It always needs archive logs

C. It can never be processed just from memory

D. It uses output buffers, active and archive logs

Correct Answer: D
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QUESTION 10

Given the following table:

CREATE TABLE EMPSAMP
(EMPNO INTEGER GENERATED ALWAYS AS IDENTITY,
NAME CHAR(30),
SALARY DECIMAL(10,2)
DEPTNO SMALLINT,
LEVEL CHAR(30),
HIRETYPE VARCHAR(30) NOT NULL WITH DEFAULT ‘New Hire',
HIREDATE DATE NOT NULL WITH DEFAULT);

Which of the following INSERT statements will be successful?

A. INSERT INTO EMPSAMP (empno, name, salary, deptno, level, hiretype, hiredate) VALUES(2,\\'Mary Smith\\',
35000.00, 11, "Associate\\, “existing\\',\\'05-06-2016\\");

B. INSERT INTO EMPSAMP ("Mary Smith\\', 35000.00, 11, "Associate\\', “existing\\',\'05-06-2016\\'); C. INSERT INTO
EMPSAMP VALUES(2,\\'Mary Smith\\', 35000.00, 11, "Associate\\', “existing\\',\\'05-06-2016\\");

D. INSERT INTO EMPSAMP (name, salary, deptno, level) VALUES('Mary Smith\\', 35000.00, 11, "Associate\\");

Correct Answer: A

QUESTION 11

Given the following INDEX definition, which attributes apply to this index? (Choose two.)

CREATE UNIQUE INLDEX DSNEB10.ZDEPTI
ON DSNASB10.DEPT

(DEDTHC)

USING VCAT DSNCAT

PIECESIZE 1048576K;

A. The index is partitioned

B. The index data sets are user-managed

C. The index data sets are DB2-managed

D. The index is unique and in ascending order
E. The maximum total size of the index is 1 GB

Correct Answer: AB
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QUESTION 12

Which of the following are valid objects created using DDL? (Choose two.)
A. PLAN

B. PACKAGE

C. DATABASE

D. SEQUENCE

E. USAGE LISTS

Correct Answer: DE

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_10.5.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0023321.html

QUESTION 13

The maximum size for each partition of a partition-by-range table space, with fewer than 255 partitions, is determined by
which combination of options? (Choose two.)

A. DSSIZE

B. PRIQTY

C. NUMPARTS

D. BUFFERPOOL

E. MAXPARTITIONS
Correct Answer: AC

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/sqlref/src/tpc/
db2z_sql_createtablespace.html

QUESTION 14

Which authorizations can change the value of the subsystem parameter SYSADM using the -SET SYSPARM
command? (Choose two.)

A. SYSADM
B. SECADM
C. SYSCTRL

D. Installation SYSADM
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E. Installation SYSOPR
Correct Answer: DE

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/comref/src/tpc/
db2z_cmd_setsysparm.htmi

QUESTION 15

Which command displays the DB2 catalog level and migration mode?
A. DSNC DISPLAY

B. MODIFY irlmproc, STATUS

C. -DISPLAY GROUP DETAIL

D. -DISPLAY DATABASE (DSNDBO06)

Correct Answer: C
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